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Correct Answer: B

QUESTION 141
Which of the following can be BEST described as the amount of time a company can afford to be
down during recovery from an outage?

A. SLA
B. MTBF
C. RTO
D. MTTR

Correct Answer: C

QUESTION 142

An administrator is configuring a server to communicate with a new storage array. To do so, the
administrator enters the WWPN of the new array in the server's storage configuration. Which of
the following technologies is the new connection using?

A. iSCSI
B. eSATA
C. NFS
D. FcoE

Correct Answer: A

QUESTION 143
Which of the following is an example of load balancing?

A. Round robin
B. Active-active
C. Active-passive
D. Failover

Correct Answer: A

QUESTION 144
A server technician is installing a new server OS on legacy server hardware. Which of the
following should the technician do FIRST to ensure the OS will work as intended?

A. Consult the HCL to ensure everything is supported.

B. Migrate the physical server to a virtual server.

C. Low-level format the hard drives to ensure there is no old data remaining.

D. Make sure the case and the fans are free from dust to ensure proper cooling.

Correct Answer: A

QUESTION 145

A server administrator needs to create a new folder on a file server that only specific users can
access. Which of the following BEST describes how the server administrator can accomplish this
task?
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A. Create a group that includes all users and assign it to an ACL.
B. Assign individual permissions on the folder to each user.

C Create a group that includes all users and assign the proper permissions.
C. Assign ownership on the folder for each user.

Correct Answer: C
QUESTION 146

Which of the following would a systems administrator implement to ensure all web traffic is
secure?

A. SSH
B. SSL
C. SMTP
D. PGP

Correct Answer: B

QUESTION 147

A server technician is configuring the IP address on a newly installed server. The documented
configuration specifies using an IP address of 10.20.10.15 and a default gateway of
10.20.10.254. Which of the following subnet masks would be appropriate for this setup?

A. 255.255.255.0

B. 255.255.255.128
C. 255.255.255.240
D. 255.255.255.254

Correct Answer: D

QUESTION 148
A server administrator must respond to tickets within a certain amount of time. The server
administrator needs to adhere to the:

A. BIA.
B. RTO.
C. MTTR.
D. SLA.

Correct Answer: D

QUESTION 149
A technician is deploying a single server to monitor and record me security cameras at a remote
site, which of the following architecture types should be used to minimize cost?

A. Virtual
B. Blade
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C. Tower
D. Rack mount

Correct Answer: A

QUESTION 150
When configuring networking on a VM, which of the following methods would allow multiple VMs
to share the same host IP address?

A. Bridged
B. NAT

C. Hostonly
D. vSwitch

Correct Answer: B
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